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{s sw c, ii gri{ so erq dt sS crc sM dt

cqc ri@r t t to a-o c-d-fi cr{ r st6 6r tt crq €qr t t t ts a-o c-d6 cr{
z sidit 6r t, cfi €qr 16 t 2s a-o v-do cr{ s 3i6t or t aefi ssc d@I zo t
so il6 rd6 crc o 3i616r *t
csq €sr r t s a-o cgffia cq{ dr f,{i e-d6 csq b ffi{ C aR fud-fl frt
rri dt sS fu6e'3{qft 3ffi gRf,-or { frfuEt
cq{ q{ fr g'ru q{ ot$ fro-ol +t t aprfr z 3i6tdr& d\ csi} t, s 3ioidr& fi-{
eq=ii t 3rtr o ei6i Er& A-i !-Fit fr 3lr-frR-6 ft-o-e c-€H fuqr rTqr tt tt swit ii
d-o-o uo ft-o-e orfiffi< fiBet
r+crEr& qrit tf 3fltsq€6dt 3rk ftAra qrq{b sdET 3a-Isqdl
s-cgild{ h rd{T d rgqfr Tdl tl
There are in all 30 questions in this question paper. All questions are

compulsory.
Question No.1 to 10 carry one mark each. Question No.11 to 15 carry

two marks each, Question No. 16 to 25 carry three marks each and

Question No. 26 to 30 carry six marks each.

Question No.1 to 5 are multiple choice questions. Here four options are

given in each question. Write the correct option in your answer book.

There is no overall choice in question paper, however, an internal choice

has been provided in two questions of 2 marks, three questions of 3

marks and three questions of 6 marks each. You have to attempt only
one of the given choices in such questions.

In questions on construction, drawing should be neat and exactly as per

the given measurement.

Use of calculator is not permitted.
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(i) 1o (ii) 1e

(i) (ii)

expansion.

The sum and product of the zeroes of a

respectively. What is the polynomial?
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ftffi *ot or nd sd 2n+1 t, dr g-s r>rfr 6.r a€-d Td drTr-
The nth term of a series is 2n+1, its l0th term will be_

(iii) 20 (iv) 21

2. sin 250 cos 650 + cos 250 sin 65otFI qI;I CdfSU

Evaluate sin 250 cos 650 + cos 250 sin 650

(i) o (ii) 1 (iii) so (ig tl2
3. u6 rild 6T q1q 14 +fr. t, r$arr il6gs dIrT_

. The diameter of a sphere is 14 cm, its surface area will be_

(i) 308 cm2 (ii) 4312/3 cmz (iii) 616 cm, (iv) 154 cmz

4. AABc il, AB=6J3 tfr. , AC=tz+*. 3fl{ BC=6 t*. tr oiur a t-
In AABC, AB=6J3 cm, AC=12 cm and BC=6 cm. The angle B is _

(i) tzoo (ii) 600 (iii) 9oo (iv) 4so

E-o. cr$ 6) u6 qR tE6r fi?n'*, u-o Bsq dwr $T{ 3n+ at crEr6-dr +ft- 1

A die is thrown once, the probabirity of getting an odd number on the top wi, be-

(iD % (iv)

1

1

1

1

5//5

frqr Fr+ E:rrffi cBqr H darEs B qRtq fr-GTr v#F 6.r avrqttr c_*rx Hr<. *
qT3nilE 3rlTff? 

1

without performing the rong division, state whether rationar number **o
will have a terininating decimal expansion or non-terminating repeated decimar

uo Eqrd s6q-d srd dfrs, ffi Wqid or a).rr aai gqaqs firffi: Q aprT J5 dt
quadratic polynomial are 0 and ,S

I2t
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1

Eild q+o.wr x2-4x+4=0 S {df fr rpfr an dBut
Find the nature of the roots of quadratic equation x2-4x+4=O.

1s. u6 frRra Euqr d ftra-S crfrrddr ffi ta
' What is the probability of a sure event?

I

1 1. d €qilii 61 3i<R zo t srt< uo tqr $Tt {qr ff fH 5$ t t €writ am ffiu t 2

The difference between two numbers is 26 and one number is three times the

other. Find the numbers.

12. qft cos 0=4/5, til (cot e+cosec 0)2tFI qlq Fnd dHul
lf cos O=4/5, find the value of (cot o+cosec'0)2.

1 3. eT k€ B, il, F2, -3) sit{ (2. 3) Eo' fiqnffirfr da qfr d, d a-cee fu frH eirr{ 6T

2Bgav+nte
Do the points (3, 2), (-2, -3) and (2, 3) form a triangle? If so, name the type

of triangle formed.

14. qfr A r$ 3{rfft t DEllAc t, a} x ?DT qH srd dftul 2

In given figure if DEllAC, then find the value of x.

4

2

A

3

D

c

I P.T.O.

1

l

e. s6trdd ffi eef Wititt-o-ft fia

How many tangents can a circle have?

seltlr (oR)

I3t

3

B
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+A Ed rs E-r ti, qfr pqt tns t, d frra dBE fu rpeo- lnso tr
In the following given figure, if PQllRS, prove that ApeO- ARSO.

R

r s. arvr b s2 qiJ d € t uo um aggqr dtur arar t, crfuo-dr sra dfre fr d6 ffir-

tot gamrtt 
1

(q) drdrrrortt 
1

A card is drawn at random from a pack of 52 cards. Find the probability that the
card is -

(a) an ace.

(b) a red ca rd.

3[srdr (oR)

tr6 il{ C gn 24 itd d, mqfi gs 6S 3ik 6st fi-& dr u-o lk o-geur Fror& arft t
3t{ Fflb rfr 6}i d crfuo?T 2/3 tr dR fr g-o ffi tkt afr *qr e-argu t 2

A Jar contains 24 balls, some are green and other are blue, A ball is drawn at
random from the Jar and the probability that it is green is 2/3. Find the number

P

a
S

of blue balls in the Jar.

17. ',a' rF'r qTq Hrd dffiu drfu Efld q+d{ur (a-L2)x2+2(a-12)x+2=Ob 5A v+n dtr

Find the value of'ai such that the quadratic equation (a-tz)x2+2(a-L2)x+2=o

a

o

16, fr6dBEfu ,7 u-o3rqRtqri@r61
Prove that ,! is an irrational number.

seErr (oR)

qfr rzor der 1067 6T H.c.F. s7 t, d sq-6.r L.c.M dra dfrsl
If H.C.F. of t26t and 1067 is 97, then find their L.C.M.

has equal roots,



t2 24
18. vftfiuit 3 3{t{ z fi56dButxy oxy

L2_24_
Solve the equations 

"*t=S 
und , --=2.

r s. m qqrtr{ *oft (n. p. ) dr eus qd 5, siftq qd +s 3rt{ q-dt 6r drr 4oo t I qdt # €qr
qsrdfr{srddBut 3

The first term of an A.P. is 5, the last term is 45 and the sum of terms is 400.

Find the number of terms and common difference,

20. fusdBs-
Prove that -

1+ secA sin2 A
secA 1- cosA

3[erf,r (oR)

kgfrBu -

Prove that -

2 1 . rs fr€ b frffi-6 drfr dfrs, Eil k€3t ( -1, 7 ) str (4. -3 ) 6) fiffiri Erd tqrsus 61

2 : 3 b 3r{qrf iiBu6o -* *, 3

Find the coordinates of the point which divides the join of (-1, 7) and (4, -3) in

theratio2:3.

22. x-3{&r r{ il6 k{ fld dBe d tz, -sl sflr t-e, n, g srqrw dr

Find the point on the x-axis which is equidistant from (2, -5) and (-2, 9).

.)

231 (HOG) t5I I P.T.O.

(1+cot A-cosec A) (l+tan A+sec A)=2

e



23. fuz it Erffi-d qrrr 6I S'sEf 516 drHe' qfr neco' 5ar t + tft ' an so art t aen npa

3

sflR opc dl srdTf, dt .. ri^i^i-^ rinr rre. if AB.D is a square of

Find the area of a shaded region in the adjoining figure' if ABCD is a squ

side 14 cm' APB and DPC are two semi circles'

L4

3rsEr (oR)

P

C
D

I

B

A

+tfr. trsrErfruoE.t b fffl€rs oAPB 6I Aaw-a am dBe' Hgor a\or so' tt

{rrdAf trfl'gg.sor dnwa sft 6rd dfrst(n 3.14)

Find the area of the sector OAPB of a circle with radius 4cm and of angle 300'

Also find the area of the co rresponding Major sector (n=3'14)'

A

B

24 . 6 cmkan or uo 6t dr'Bu r &-< t 1 0 cm 6< Rrd tr6 trg S Eo r< eet isr gtc d

€{rdtss3iktr+fr66r{dqrfrul .^ ^- -ra,,v rrom its c

Draw a circle of radius 6 cm' From a point 10 cm away from its centre'

construct the pair o"unn"nt' to th1 
-c'r-rcle 

and measure their lengths'

231 (HOG) t 6l
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2 s. fr-d dBu ft ffi qrs Fg t ftd 6 w etfi rr$ dr Hsf tspit b &-E or drur scd
@ 6i Fffi a6 trqTqos axr b-< c{ eiaRa olur 6r H["6 6}-dr tr 3
Prove that the angre between the two tangents drawn from an externar point to
a circle is supprementary to the angre subtended by the rine-segment joining the
points of contact at the centre.

zo, dqfuqi b srq 61 3rdqtd. s, z * 3f{ Jqb qqT or rdcna +,s t t qfr c-d6. qfu cfrffittr. zooocqrtartdifidqrfuosnqsradiaer 
6

The ratio of incomes of two persons is 9:7 and the ratio of their expenditures is
4:3. If each of them manages to save Rs. 2000 per month, find their monthry
incomes.

3[Ei[ (oR)

Lro. dte{ dd, hrfr fux a-o C qro rs Km/h d. z+ r<m en<r b' rfr6m Hri C, T& $tm b rg6m sni d srteTr 1 ufl 3rftr6 ilfr dr ernr d ar. s.o Jifret "
A motor boat whose speed is 18 Km/h in sti, water takes t hour more to go 24
km upstream than to return downstream to the same spot. Find the speed of
the strea m.

27 . w Bo m til-& sro b drit ai< srq+-erqt HqH drcs dra a) dr) of gu d r F{ dtit Ejq}
b fi-q reo i uo frg t d*ri b Frq-{ b yqqq d* F"'T, ooo #r soi S r qfin d fusrtr{d$itk€dqtoradftur 

6
Two poles of equal heights are standing opposite each other on either side of
the road, which is B0 m wide. From a point between them on the road, the
angles of elevation of the top of the pores are 600 and 300 respectivery. Find the
height of the poles and the distances of the point from the poles.

3[er4r (oR)

tr6 d-gd'Ba qqq S &rq{ t M w to e frrr dt rrac b fr rq{ Ed a-o b sro-aqq dur
6'Erqr; 300 gtq aso dr vgq'6- ,.+q d d,d 3f{ d rffiib +d d 6t an a,ftur
The angres of depression of the top and the bottom of an g m tail buirding from
the top of a murti storeyed buirding are 3oo and 450 respectivery. Find the height
of the murti storeyed buirding and the distance between the two buirdings.

I P.r.o.

I

I

I

I

r

231 (HOG) t7l



2 B. k6 dfrs fr s-6 Hrolq BUf, ti muf mr Erf rq d WBrj b drtr b ftr b q{d{ +dr
6tt

Prove that, in a right triangle, the square of the hypotenuse is equal to the sum

of the squares of the other two sides.

geFrr (oR)

,o .ln uX arer$ Erfr uo a-.sfr ccq at u-o sn\ b mm t qt 1.2 mls d qro t aa
r& tr qfr sN t:F.t 3.6 m d fu trr *, A + Qds ora rs a-+fi d sror of a,wr$

madBul
A girl of height 90 cm is walking away from the base of a lamp-post at a speed

of L.2 m/s.If the lamp is 3.6 m above the ground, find the length of her shadow

after 4 seconds.

zs. w ftrsn sci d-d iiE-fi 10 m qfs Erfr 3rti 2 m rr6fi uo ie-cr6R e& d 3ri-dRs

qrcr 20 cm Erd uo qr$q 6I<r Lro, T6-{ t dr.fdr t t qfr wgq ii qrfi s km/ h fr drd t s6

6rdr d, d ffi sqq fla a# gS w artrftl
A farmer connects a pipe of internal diameter 20 cm from a canal into a cylindrical

tank in her field, which is 10 m in diameter and 2m deep. If water flows through

the pipe at the rate of 3 km/h, in how much time will the tank be filled?

30. 6&rT 10 b 60 Erii b rrDH d qrqf6 +A sRfi d dcrtd ri tl smioi 6I sgtr6 Hr?I

dHE'r 6

Erf 3rfr{rd

(crwi6)

20-30 30-40 40-50

ETTSGTT b 14 10 l5 E 10

Marks obtained in mathematics by 60 students of class X are shown in the
following table. Find the mode of the marks obtained.

Class interval (marks obtained) 0- 10 10-20 20-30 30-40 40-50 s0-60
No. of students 6 L4 10 15 5 10

**r*:t:*

231 (HOG)

0-10 10-20 50-60
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